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SA AL
B S0i5lD AlZSe AAHE PE(REUTSNL/IALTA)
=2 SAIAHEHE LAY 22 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-gf 2d gegd 60,0003 x4 240
- HE2S(CHEd 8), TAIHE 25 S
30,0003 42«32 360
401 Al HIZ R OHHI 50,000 50,000
01 AlZ8| 50,000 50,000
Ogd7 TAIZIH=(TAIHZAIL) HEH|
= 50,000,000 50,000
4EEFNS 2EH HA(SEXNGNL/XSLEAI) 3,000,000 6,800,000 3,800,000
= 1,500,000
Al 750,000
- 750,000
Mo ?1E X< & 3,000,000 6,800,000 3,800,000
= 1,500,000
Al 750,000
- 750,000
X7 Ssoided SSEHIAY 3,000,000 0 3,000,000
= 1,500,000
Al 750,000
- 750,000
401 AIEHIZ SR 0HYI 3,000,000 0 3,000,000
= 1,500,000
Al 750,000
- 750,000
01 AlZ2H| 3,000,000 0 3,000,000
OUX7 S+oided SSEHIAY
3,000,000,000& 3,000,000
= 1,500,000
Al 750,000
- 750,000
OHMGL) HE E2EE ZE(USESR/ER) 11,162,000 7,430,000 3,732,000
C2HE 5,400,000 4,630,000 770,000
s s+38 €3 === 900,000 4,000,000 A3,100,000
401 AlZHIZ SO 900,000 4,000,000 A3,100,000
01 Al&H| 900,000 4,000,000 A3,100,000
OUS 478 28 cax
900,000,000 900,000
oS 747-721K 23 =204 300,000 300,000
401 Al HIZ R 0HHI 300,000 300,000
01 AlZ28| 300,000 300,000
OUets 747-781K L3 T20HL
300,000,000 300,000
st nNsSstn 23 T2IH4 400,000 630,000 230,000
401 Al HIZL 201 400,000 630,000 A.230,000
01 Al&H| 400,000 630,000 /230,000




S AL
M OIMGH) HHE C2EE ZH(RESYLER/EZ2)
&S24 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oftgnsetn gd cafa
400,000,000& 400,000
280E 22 204 (22HH) 300,000 300,000
401 AIEHIX R0 300,000 300,000
01 A28l 300,000 300,000
SIS 23 T204
300,000,000 300,000
SEZ stgdet =8 2L 300,000 0 300,000
401 AlEHIZ SO 300,000 300,000
01 Al&HI 300,000 300,000
SeZ stgdget =8 =20H4
300,000,000 300,000
LUS LY LA Z2ME(=F) 3,200,000 0 3,200,000
401 AIEHIX R0 3,200,000 3,200,000
01 A28l 3,200,000 3,200,000
ORYs S84Y 22 T2ME(+) 3,200,000
ZEHI 5,430,000 2,800,000 2,630,000
=2 ¥ ANE=S 3HI 2,000,000 700,000 1,300,000
401 AIEHIZ SR OHYI 2,000,000 700,000 1,300,000
01 Al&HI 2,000,000 700,000 1,300,000
OEZ ¢ A= &I
1,000,000,000& 1,000,000
OZU === dhl 1,000,000,000& 1,000,000
28 £ & AME= FH 600,000 500,000 100,000
401 AIZHIX S0HH 600,000 500,000 100,000
01 AlZH| 600,000 500,000 100,000
o8 &2 & A= EHl
600,000,000 600,000
EE2=FHFA 100,000 100,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&HI 100,000 100,000
OE2=2& S7HI(FUXRE)
100,000,000 100,000
SZ21102 2 2E-HHISA 230,000 230,000
401 A& HIX R0 230,000 230,000
01 AlZH| 230,000 230,000
OdgZ1102d 2-JHISA
230,000,000& 230,000
g2 2=HUISA 200,000 0 200,000
401 AIEHIZ SR HYI 200,000 200,000
01 Al&HI 200,000 200,000
OXYg 2R3 2-HUISA
200,000,000 200,000
=2 23 BZHHISA 120,000 0 120,000




S AL
M OIMGH) HHE C2EE ZH(RESYLER/EZ2)
&l E2FH (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 120,000 0 120,000
01 Al&H| 120,000 0 120,000
OZR=z 22 2-HUISA
120,000,000 120,000
s 280-621K €& ==2HH| 150,000 0 150,000
401 Al HIZ S OHbI 150,000 0 150,000
01 AlZ2H| 150,000 0 150,000
Ol s 289681 A L& 2 EH|
150,000,000 150,000
UEXoite €3 D= EHl 220,000 0 220,000
401 Al HIZL 201 220,000 0 220,000
01 Al&H| 220,000 0 220,000
OUgXotate &3 ot ZHl
220,000,000 220,000
gz ¢34 gl 100,000 0 100,000
401 AIEHIX R0 100,000 0 100,000
01 A28l 100,000 0 100,000
OBIHZ waH Fy
100,000,000 100,000
Sz A ECFHHI(FLUHHM A 300,000 0 300,000
401 Al HIZL S 0HYI 300,000 0 300,000
01 Al&HI 300,000 0 300,000
Oz 23 2-Y|
300,000,000 300,000
OPItHSE 2 HOMHMZ HHISA 200,000 0 200,000
401 AIEHIX R0 200,000 0 200,000
01 A28l 200,000 0 200,000
O0DIHSEZ HOMMZ HHISA
200,000,000 200,000
BRFE dE TE2HH|ISA 200,000 0 200,000
401 AIEHIZ SR 0HYI 200,000 0 200,000
01 Al&H| 200,000 0 200,000
OBREZ 23 TZHHISA
200,000,000 200,000
EX[Z32082 & H2APT 28813 150,000 0 150,000
401 AIZHIZL S OHE 150,000 0 150,000
01 Al&H| 150,000 0 150,000
O8=2302HZ & AT 23|
150,000,000 150,000
252 2¥ ESHHISAH2RE) 400,000 0 400,000
401 AIEHIZ SR OHYI 400,000 0 400,000
01 Al&HI 400,000 0 400,000
252 2 BEFHISAH2R)
400,000,000 400,000




S AL
M OIMGH) HHE C2EE ZH(RESYLER/EZ2)
cHolr E2E| (=CR-E))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g U2Ut+ €3 orE2tgY] 30,000 30,000
401 AIZHIZ SO 30,000 30,000
01 Al&HI 30,000 30,000
OEss LEUDI €3 otautgy|
30,000,000& 30,000
SEZIHEHA S 3 L2E =2 HHISA 100,000 100,000
401 AlZHIZ SO 100,000 100,000
01 A28l 100,000 100,000
SAEZRHE S I 22 SHFEY|
100,000,000 100,000
LECZ L TZHHISA 130,000 0 130,000
401 AIZHIZL SO 130,000 130,000
01 Al&H| 130,000 130,000
OLEL=Z &3 =23HISA
130,000,000 130,000
2 HE SXIZeldI(SIHH) 200,000 0 200,000
401 AIZHIX 20 200,000 200,000
01 A28l 200,000 200,000
Oz g X2l (SIHH )
200,000,000 200,000
ANEZS FX2el 332,000 0 332,000
2U FRAEsS N E 312,000 0 312,000
401 AlEHIZL S0 312,000 0 312,000
01 Al&H| 312,000 0 312,000
OAlE=E &It EH 89
50,000,000& 50,000
OSHY 2D FUHHHY
20,000,000 20,000
OS& HUHHTEHES
220,000,000 220,000
O = NEERNEINEL
22,000,000& 22,000
SeXotE: A 20,000 20,000
201 er=23y| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
O2&Xot2: Ha 5,000,000& 42| 20,000
NEItse 2 22l HH AR(FELX SN /=XH) 7,770,700 3,096,000 4,674,700
= 1,000,000
Al 500,000
- 6,270,700
AHAEIS S MEHotd &4 1,220,700 296,000 924,700
Ooid L@ MEotd RS+ 3= 246,200 241,200 5,000
201 el 122,200 117,200 5,000
01 At2teltl 2,200 2,200 0
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e I@;i@ dEiotd =4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OHFI|et 2| CHEH 82
2,200,000& 2,200
02 3324l 120,000 115,000 5,000
Oogsd 4l 840,000 840
OBZHE CCTV S4lt| 2,160,000& 2,160
OBEILY M5 MER 104,000,000& 104,000
=EEEX &2 13,000,000& 13,000
401 A& B2 20HY| 124,000 124,000
01 AlEHI 124,000 124,000
Olgtd R 33 &2l Y
124,000,000& 124,000
Sitn At e =z X 222 3,500 3,300 200
201 B2 AL| 3,500 3,300 200
01 ArR22ltl 3,500 3,300 200
OSAN AMESZ2EI(NEEX) HAEY
583,333 *632! 3,500
A0HE ADIE HSECIAAE 2F 1,000 1,500 AB00
201 L2 | 1,000 1,500 AB00
02 32| 1,000 1,500 A500
(OrSPIE= 220,000 220
Otz 780,000& 780
CHAHE 23 ELHE EX3A 800,000 0 800,000
401 A& HIZLS0HY| 800,000 0 800,000
01 Al&HI 800,000 0 800,000
OUd =208 EXI3A
800,000,000& 800,000
CHASE St A 50,000 50,000 0
401 AlEHIZ20HY| 50,000 50,000
01 AlEHI 50,000 50,000
OUAA staE| 50,000,000 50,000
od R+358 Hd 8& 20,000 0 20,000
401 AIEHIZ 2018 20,000 0 20,000
01 AlEHI 20,000 0 20,000
OUdHE Rz i HE 4
20,000,000 20,000
SHEAIE SAl2tel 100,000 0 100,000
401 A& BIZ20HbI 100,000 0 100,000
01 Al&Hl 100,000 0 100,000
Odt&EAld SX2el 100,000, 000& 100,000
ot=2t2 Hb| 6,550,000 2,800,000 3,750,000
= 1,000,000
Al 500,000
- 5,050,000




SA AL

3 NUStset 2 22l A P=E(SELAANL/=XH)

s of=2t2 FH| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
St=AlE =4 1,000,000 400,000 600,000

401 Al HIZL 201 1,000,000 400,000 600,000
01 Al&HI 1,000,000 400,000 600,000
Odts =& 1,000,000%*1,000m* 1,000,000
ots=Al2 &Hl 600,000 150,000 450,000
401 AIEHIX R0 600,000 150,000 450,000
01 A28l 600,000 150,000 450,000
Odt==Al2 FHI 600,000,000& 600,000
215 ot=Ald ZH| 850,000 850,000 0
401 AIEHIZ SR 0HYI 850,000 850,000
01 Al&HI 850,000 850,000
Ol ot=AlE EHI 850,000,000 850,000
253 L& o= FHHl 3,500,000 1,000,000 2,500,000
= 1,000,000
Al 500,000
- 2,000,000
401 Al HIZL S 0HYI 3,500,000 1,000,000 2,500,000
= 1,000,000
Al 500,000
- 2,000,000
01 AlZ8| 3,500,000 1,000,000 2,500,000
OZ2ss L& otk HHIAIY
3,500,000,000& 3,500,000
= 1,000,000
Al 500,000
- 2,000,000
HEFHAXAIZ EX 50,000 50,000
401 AIEHIZ R HYI 50,000 50,000
01 Al&H| 50,000 50,000
OUs==adXAIE EXISA
50,000,000 50,000
a45E=NS otk =4 200,000 100,000 100,000
401 AlEHIZ S 0HYI 200,000 100,000 100,000
01 Al&H| 200,000 100,000 100,000
Od&H+=XS ot ELESA
200,000,000 200,000
SUZ 127-2 L@ St=AIE ZHISAHFRIEO 04 150,000 0 150,000
401 AIEHIZ SR HYI 150,000 150,000
01 Al&HI 150,000 150,000
OFAUZ 1272 &3 otr=Ald ZH|
150,000,000 150,000
= 50,000 0 50,000

EA21982 62 L@ AFUXAIE EXBAHFLUEA
&F)




SA AL
ZE: EbsE B 2ol M AH(FELNSNL/S )
el ol 2t2 i EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
401 AlZHIZL SO 50,000 50,000
01 AlZHI 50,000 50,000
OS8AZ19H2 62 23 AFLAAE £X
50,000,000& 50,000
Al & Gh=Al4 JHE S AL 100,000 0 100,000
401 AIZHIX 20HH 100,000 100,000
01 AlZ2H| 100,000 100,000
OUAAtA ] & ot=AlE IHESA
41,000,000 41,000
OUAAAR] L& St=AlE HESAHS
Al THEXE) 59,000,000 59,000
L% S22 ZUTARE) AAEHES 50,000 50,000
401 AIEHIZL 0] 50,000 50,000
01 AlZH| 50,000 50,000
% Ote2t2 FUTAREH) AAIEHE
B 50,000,000& 50,000
BY2SHHI(AL) OIEHIIE) 74,400 72,600 1,800
Jl23HI(A&) 74,400 72,600 1,800
Jl23HI(AH&) 74,400 72,600 1,800
201 er2&| 28,200 26,400 1,800
01 At2teltl 27,000 25,200 1,800
ORKNE2g JlE=+8Hl
40,0003 *25% » 122 x00fk 10,800
FAII28R =8 4|
9,000 x25H +6A!* 122 16,200
2 s3=234l 1,200 1,200 0
O&AIPDI S Etl==cl
100,000 = 12CH 1,200
202 04t 42,000 42,000
01 =LHNHI 42,000 42,000
OJlz2ge =8 304
20,0002 x25& * 142« 122 +50% 42,000
203 =48] 4,200 4,200
M EASHLRFAH 4,200 4,200
OFAE2E gRF2|
350,000& 122 4,200




